Total No. of Questions—22] [Total No. of Printed Pages—

T—8055A1

BIOLOGY
(Hindi & English Versions}
Time : 3 Hours
Maximum Marks : 75
ﬁ%ﬂ‘ :
(1) =+ w9 sit@EdE |
(2) W97 FHHF 7, 8, 14, 17, 18, 20 I 22 § Hidfs fawey fow 7o F

(3) ¥ = 3w few o fAdyER fefen

Instructions :

(1) All questions are compulsory.
(2) Internal options are given in Questions Nos. 7, 8, 14, 17, 18, 20 and 22,

(3) Write the answers of questions according to the notes given.

ey : v FH% 18 6 7% & U5 Y99 =71 3¢ Afsdd 30 yeei o fefan

Write the answer of Question Nos. 1 to 6 in maximum 30 words

each.

1. T5=1 =1 =/ o9 =M S{4 g9¢ Uis = gEetas 9 feran |

ted

Write the botanical name of any two edible oil yielding plants.

K1 T8055A1 P-T. 0.



(2)

T Fifew ow= R 7 2

e

What is T cell 7

FHAEIA TOHE % B wa farEe

Lad

Write two characteristics of Racemose Inflorescence.
4. wiEYTS 59 ¥R 7 2
What is Meristematic tissue ?

5, =9Ee AR 9EE 0 U we e

e

Write one difference between Chyle and Chyme,

¢ OFE-HieT=s W 999 das Fel 5ha £ 7 2

Where is Respiratory centre located in Human brain ?

T : T FUE 7 8 12 U9 ¥ WS U T I ¥iYEan 50 viel § [diEu

Write the answer of Question Nos. 7 to 12 in maximum 50 words

each.

Lad

7. SFEIVEEA 991 AT B OHE M #= e |
“Write any three differences between Spermatogenesis and Oogenesis.
Hadr (Or)
% 93 7 7 7 7i¥ % 54 93 fafgu
What is Dental formula ? Write the Dental formula of man.

K—1—-T—3055A1



(3)

5. 9% 79 A9 9% 9 FIEEERIATE 3 ®iz a1 d= TAan |

Iad

Write any three differences between Cyclic and Non-cyelic photophosphorylation.

AGET (Or)

UUZE [mH S (A8 AvA HiE |
Describe Head or Capitulum inflorescence alongwith diagram.

9. Zqul gyl &1 AW w § 7 IR0 S THHET 3
What is the Law of Incomplete Dominance ? Explain with example.

10. GHTIME Y594 F1 HB 0 A8d TarEn |

Lid

Write any three significance of Photorespiration.

11. =4 I F1 90 4 @@y 997 I %ed F 2 §HE FRT foiEn |

Lid

Write the full name of the AIDS and two main reasons of its spreading.

bad

12, ToEAe Tog TR wed € 2 qHe-uEE w1 3EE o A € 7 fafeu

What is Test-tube Baby ? What is its benefit to Human Society 7 Write.

29T : v FH® 13§ 17 7% & TO® WA H1 IW AHwad 75 el A fatge
Write the answer of Question Nos. 13 to 17 in maximum 75 words
each.
13, FiH=E F THTO A4S F ARG T2 GiEg | 4
Draw labelled diagram of Circulatory system of Cockroach.

K—1—-T—S055A1 P T..0:



[ 4 )

14. sHMEfE=R, FEeiaen 7o gfiEefass F d949 4 =0 99 £ 7 9eE ® 0F
T Iael9 St | 4
What do vou understand by Ammonotelism, Ureotelism and Uricotelism ?

Give example of each.

=T (Or)
FFATYETEA Y] FTieavasEd ¥ $3 9@ d{=0 o)

Write any four differences between Aerobic and Anaerobic respiration.

15. UF ErHrwifeE % I 9Fe w1 faaw Afe s wwe =i 9 = femn e, A1 3w
Se9 HATA o1 {ET=ER B USiEa FHIAE | - 4

When a Haemophilic man is married to a normal woman, draw conclusion

about the hereditary of haemophilia in offsprings with ray-diagram.

16, AENH ®E T E 7 IFFH w13 45 a0 Tatay | 4
What is Genetic code 7 Write its any three characteristics.

17. S0 MOTHS ®T HIFA H] G0 R | 4
Describe the structure of Bacterial chromosome.,
gat (Or)
Tefafad s 99y -
(i) FETaTiEe
(ii) sfafaes = |
Explain the following terms :
(i) Pleiotropic effect
(ii) Duplicate factors.

KE—1—T—8055A1



L a)

EYT : %95 oi% 18 3 22 TF % UETF UV T I Afuwan 150 vwest o ferEm

15.

_Ta.q.-ﬁaﬁﬁmﬁﬁimaﬁ?ﬁmﬁmﬁﬁqﬁ@mﬁnﬁwﬁfm g

Write the answer of Question Nos. 18 to 22 in maximum 150 words

each.

-

FEIE tﬁ%’ﬂrﬁmmmaﬂamﬁ%ﬁ%mﬁmsﬁ%ﬁmﬁm

Draw a labelled diagram of Transverse section of Dicot stem and write its

two important features.

Draw a labelled diagram of Ganong’s Potometer. How would you determine

the Rate of Transpiration with it ?

L5

ﬁmﬁ‘ﬁﬁfﬁwaﬁﬁaﬁgﬁmml

Explain the process of clotting of Blood in Human.

wr

Describe the working of Human Heart and define double circulation.
HGET (Or)
AITE HiE R TH AEERE) T SN ¥ $9 P 30

Explain the structure of Human Bone. How is it different from Cartilage ?

1. TR HYa99 &1 UHEE 7 % e T2 WOmE T Ui fea = aws

¥

B ! =

Explain the major steps of light reaction of Photosynthesis. Why is it called

light reaction ?

K—1—T—8053A1 A L )
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22. FIET & fFd ey € 7 w9 mEw fEien

L

What is Crossing over ? Write its significance.
HAGAT (Or)

AT IETAR F R vEm E 89 ¥ THE W v &7

What is Genetic Engineering ? What iz its significance in the field of

Industry.

K—1—T—85055A1
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Total No. of Questions—22] [Total No. of Printed Pages—6

T—8055B1

BIOLOGY
(Hindi & English Versions)

Time : 3 Hours

Maximuom Marks : 75

o -
(1) =5 9w sFad €
(9) wT wmEEE 7. 8 13, 17, 18, 20 &7 22 F wiaftw fawen fauw e ¥

(3) T¥ET & 3¢ feu mu FAEwmEER faiEn |
Instructions ;

(1) All questions are compulsory.
(2) Internal options are given in Questions Nos. 7, 8, 13, 17, 18, 20 and 22.

(3) Write the answers of questions according to the notes given.

fder . UW FHIF 1 ¥ 6 T 5 UHF YIT w1 I AfGwan 30 yeel # fatEn)
Write the answer of Question Nos. 1 to 6 in maximum 30 words

each.

Pl

1. FHHET 9i5 % 2 gHEiEs wEU OaHAE |
Explain two Social causes of Population growth.

K—1—T—8055B1 i 1



(2)

I

. BEE-dEE FET w5 HEE THTE IEE] RIS

I

Draw only labelled diagram of Human nerve cell.

. TR 1 E@E 49 WEH wIH A Ui % aeeafas 9 fafan

Lad

Write the Botanical name of any two edible oil yielding plants.
4. T AR H T UAed % 94 U5 TET 9941 £ ? U R fefau 2
Blood does not clot in our body during blood cireulation 7 Write one reason.

. 99 SO =] E_" g5 TI’T'EF[ H $=';I O] HTA] %? Z

L

What is Meristematic tissue ? Where is it found in plants ?

6. SUALATH FI 9Aag F0a0 | 2

Define Placentation,

Fevr: v w97 7 9 12 9% F 99w U9 T 3¢ ifusan 5o vt § ferfae |

Write the answer of Question Nos. 7 to 12 in maximum 50 words

each.

7. 8T MU {43 %] AT yeEEe 4 q39esy

Lad

Br.@.¢ K,C.AG

1 7}
Describe the given floral formula in botanical terminology

Br. & a{ Krﬁﬁc'ﬁAmglﬁ.‘

i

HYET (Or)
W= A9 4fFrE a4 § A9 ygm e feteu
Write three main differences between Root and Underground stem.

K—1—-T—80558B1



(3)

Lid

8. FEATY =T HIEW 99 g SHEE
Describe the structure of Hydathode with diagram.
HAGET (Or)
AT A FTRTT H OO s fareg )

Write three difference between Transpiration and Evaporation.

s

. AT=mU (FEATEA) H1 haw AHiEg =9E a9 | 3

Draw only labelled diagram of internal ear (membranous labyrinth.

10. FYE weiEe w1 B g ¥ 7 ISR 2w HeEnd

Lad

What is the law of Incomplete Dominance ? Explain with example.

11. Trfefas T & T ST & 9F SN U0 S CH-UE @& fefa
(1) T4
(ii) 8 7

(ii1) &3 T

L¥E

Write the names of Pathogen and one symptom of each of the following

diseases :
(i) ATDS
{(1i) Leprosy
(iii) Tuberculosis.

EK—1-T—5055B1 P.T.O.



12.

(4 )

ST me = yan fafEn @9 § 39 e AHEEt

L

Define Bio-fertilizers. Write its significance in Agriculture.

frder . U wEE 13 # 17 OF F AT y¥ %1 I Af¥Fan 75 = B fEtan )

t
Lad

14,

o]
(¥4

Write the answer of Question Nos. 13 to 17 in maximum 75 words
each.
il o gt =1 fwiw T 9w g &0 ol 9% g FEEE) 4

How does Urea formation take place in Mammals ? Explain with Ornithine

cvele.
9= (Or)
% T FI SHYES F2 F TR HF TR 991 §F Fd farEn)

Draw the labelled diagram of T.S. of Spinal cord and write its two

functions.
FiEE F JE=T 87 F AmiiEa =9 G@i= 4
Draw labelled diagram of Circulatory system in Cockroach.

g F fedw faafo fafy =1 TEi=s g g9t 4

Explain sex determination in Human with Ray diagram.

TLOET A9 HRLEAT H 96 99E F=E fafag| 4

Write four main differences between D.N.A. and R.N.A.

. SES] TIEE wE HLEAT T g HIe | 4

Describe the structure of Bacterial Chromosome.

K—1—-T—8055B1



(i) ﬁ?qﬁﬁﬁ

(i1) FATAT9S FF |

Explain the following terms :
(1) Pleiotropic effect

{11) Duplicate factors.

891 : 977 F=iF 18 ¥ 22 99 & UHATF 9y9 F1 IO ATHGH 150 W= F
TarEy |
Write the answer of Question Nos. 18 to 22 in maximum 150 words

each.

L

8. C, i8] s ¢, 9 F Wi s fote
Write five differences between C, plants and C, plants,
#9441 (Or)
=Y 9] IR § HiE Uy He faiE |

Write any five differences between Self-pollination and gross Pollination.

19, UEE EEE € 7 R 96 USH F UWen (g % §ids avig s

L

Define Aestivation ? Describe any four types of aestivation with diagram.

20, UIHE-%EE w1 Gl H{ET w1 AHifes 9w oFAny @ e a1 % w0
[rﬂlréi—‘ll.;i 5
Draw a labelled diagram of the Internal structure of Human heart and

Write one funection of Purkinje fibres.
K—1—_T 8055B1 P10



(6 )
stgar (Or)
m—ﬁaﬁﬁzﬁwaﬂmfﬁmﬁm%ﬁmmwm|

Draw a labelled diagram of V.S. of Human eye and write the function of

Ratina.
2, THW ¥ T ¥ g9m1 T W AR F FEAEL 3

Describe the process of clotting of Bloed in Human.

22, 9 Hwew feE whoies 2 wE @ fag fete

L

Who proposed Gene concept 7 Write its ten points.
wyar (Or)

(i1 FgIETgR T

(if) S FATAT |

Explain the following terms :

(i) Translation

111} Gene cloning.

K—1—T—8055B1 17,245



Total No. of Questions—22] [Total No. of Printed Pages—6

T—8055C1

BIOLOGY
(Hindi & English Versions)
Time : 3 Hours

Maximum Marks : 75

(1) A9 gvm A T

(2) W= FHiF 7, 8, 13, 17, 18, 20 #HE 21 9 #@aw foFey fguw w &)

(3) T % 3w fow U fdunan farae

Instructions ;
(1) All guestions are compulsory.
(2) Internal options are given in Questions Nos. 7, 8§, 13, 17, 18, 20 and 21

(3) Write the answers of questions according to the notes given.
FRor: U9 #0i% 1 8 6 7% F To4% WA =1 o0l AUFAd 30 ¥l o forEu

Write the answer of Question Nos. 1 to 6 in maximum 30 words

each.

Pl

1. Jiie 9 FERT & eie F1 T SR g agn faiau)
Write the name of Pathogen of Polio and two symptoms of the dizease.

K—1-T—8055C1 P.T 0.



A

(p ]

ST ® ST, RiERRE, HiAfEn g e w5 w1 4 29 9w v ave

(]

warm fatEu |

Write one of each deficiency symptom of Nitrogen, Phosphorus, Magnesium

and Potassium in Plants.

- TE=T Al G 4 WEE #9399 ¥ areefas 9m fefan 2

Lad

Write the Botanical name of any two edible oil yielding two plants.

Pl

4. 3= =1 wivwmw fafEw ) o8 919 =1 =0 oy T 27 (uw =)

Define Transpiration. How it benefits plants (only one benefit)

W
4

AT FHEE] H HE H 8 et terEn 2
Write two funetibnal differences between Blood and Lymph.

&. AEE-ERY UY w1 AWifen = I9130 | YT T 79 UYEl B 9w =3 T T? 2

Draw labelled diagram of Human Cardiac muscle. How is it different from

other muscles of body ?

e

E9 - U9 FHF 7 # 12 99 % THF U %7 390 [UwEn 50 vee § Tetam =T |

Write the answer of Question Nos. 7 to 12 in maximum 50 words

each.

i

7. Few qed # umw fafy o = awmmEn
Explain the nutrition in Pitcher plant with diagram.

K—1—T—8055C1



(3)
#Agar (Or)
“qw Earait wire ¥ 1 swgm 99 S aEeEh

“Flower iz a modified shoot.” Explain with suitable diagram.

i

g =oite=m WEr WY H B Siwl wie %1 799 9ied g9 whited |
Describe the movement occurring in Desmodium gyranace with diagram.

adr (Or)

et ot & ey W W e fEm wEd guiE s

Describe main parts of a typical leaf with labelled diagram.

9. dATa=T HIVE] 1 Hi=A] AHiTeg =99 Hied T99EY |

Ll

Explain the structure of Neuron with labelled diagram.

10, T Hurm A e 9T a9 % SEEE 1 F1 A, &1 AW au T UHEH F 397
TeEd |

Lid

L)

Write the name, two symptoms and important prevenlive measures of today
L, P :

£.7]

dreadening disease spread through Blood transfusion.

11, =TqU guTiEe w1 FrEn IR g 99EEl 3
Explain the Law of Incomplete dominance with example.

-

12. Tr==] 19 vren UMl % SESia® A9 61 gedw F 19 o1 IYAM f@iat | 3

Write the botanical name of three fibre yielding plants with the use of each

of their fibres.
K—1—T—8055C1 P.T.O.



(4)

frdor : ued wAE 13 H 17 T = qerE gv F1 WL Hfusman 75 W=l ° fotEd)

14.

Write the answer of Question Nos. 13 fto. 17 in maximum 75 words
egach.
aﬂwﬂmmﬁﬁaﬁﬁﬁmﬁq%mﬂﬁmﬁmmﬁ—ﬁmm@ 4

Write the name of two Harmones secreted by Pancreas with one function af

each.

2149471 (Or)

ﬁﬁmwﬁw—ﬁﬁ‘ﬁaﬁﬁmﬂamﬁ—wmﬁ@_l
Write the location and one function of each of Rads and Cenes in Human eye.

ST ¥ uREETn 1 AR e i 4

Draw lahuller]. diagram of Circulatory system in Cockroach.

ﬁﬁﬁﬁhﬁﬁmﬁxﬁrﬁﬁiﬁﬁ‘aﬂmml 4

Explain sex determination in Human with Ray diagram.

saE 59 wed ¥ 7 TR 3% FueRd 3

What is Transcription ? Explain its mechanism.

. Fragy A w1 = FHEE g

Explain the structure of Lampbrush chromosome.
=T (Or)

Define Gene and explain gene concept.

K—1—T—8055C1




(5)

Ffer . 37 FEIF 18 4 22 % F gErE 9T F1 I afawan 150 ¥=El H

TAEL |
Write the answer of Question Nos. 18 to 22 in maximum 150 words
each.

18, A q—T"—fuﬂm?ﬁﬁmmWanwa—r?mm?ﬁm 251 OUAEL| 3

How would vou determine the rate of Transpiration by Ganong's Potemeter ”

Explain with diagram.

319ET (Or)
TW%Wﬂﬁ'%w—mmﬁﬁiﬁ%ﬁWI
Explain Dixon-Jolly theory of Ascent of sap with diagram.

jo. mmawETE T H fgFUET T = darem wtmael w1 fEsn Hied FEFEd 5

Explain the events of Double fertilization and Triple fusion in Angiospermit

plants with diagrams.

L

20, TEEE TEE FEd ¥ 7 zos Tafws 99 = EAEEC

What is Spermatogenesis ? Explain its various steps.
=Ha=1 (Or)

s BE R § 7 FHE F FHE IR 5wt § o aiiEds 2 € 7 FEEE
What ie Ageing 7 What changes occur in physiology due to ageing in vody ?
Explain.

21, T STIREAA qﬁﬁﬁa?aﬁﬁ?1mqamqﬁmqqﬁaﬂ??mq TEHR B B qE
% 7 gHEwEL 5

What is Chromoesomal Mutation ? What types of abnormalities may cause

change in the structure of Chromosomes 7 Explain.

K—1—T—8055C1 P.T. O.



(6 )
HAI=T (Or)

AN T G Fww0 € 2w 4 3 5w v v ¥ 2 Yatey whw wee

What is Hereditary disease ? How do these reach to offspring ? Explain with

ray diagram and example.

22. ™ H TH F UH 999 FT A TUEE

L

Explain the process of clotting of Blood in Human,

Kh—1—T—8055C1 17.245



Total No. of Questions—22] [Total No. of Printed Pages—8

T—8056A2

BIOLOGY
(Hindi & English Versions)
Time : 3 Hours

Maximum Marks ; 75

ﬁiﬁ?ﬁ':
(1) B4 g9 A= £
(2) W FHHF 7, 9, 13, 17, 18, 20 #HW 22 § g fa=wey 7o 70

i

(3) ¥ % I e TN HeurER f@Ee |
Insiruetions :

(1) All questions are compulsgory.
(2] Internal options are given in Question Nos. 7, 9, 13, 17, 18, 20 and 22

(3) Write the answers of questions according to the notes given.

fdor: 793 F9F 1 9 ¢ 9% F UHF W w1 IOX IYFEIE 30 ¥Rl H orEw | v
TET I W 2 Hw fAgifg £

Write the answer of Question Nos. 1 to 6 in maximum 30 words
each. Each correct answer carries 2 marks:

1. 95713 o+ % 41 w1 fetan | 2
Write two functions of Adipose Tissue.

K—1—T—5056A2 P L0



(29

2. HUT W AW Wt § 9 awmw fafmu

L]

Write two differences between simple and compound leaf

. FEEETHT T 2

Lid

lsd

What is Vasectomy ?

4_iﬁ§ﬁﬁ$ﬁmmmﬁﬁﬁﬁﬁm:

Pl

Draw labelled diagram of Stripped musecle.

N
Pt

. HeE] m%mamaﬂmﬁﬁﬁm

Write the name of Vector and a Pathogen of Malarig disease.

6- TS T [wigs % womrEw .
= § Epi?qﬁlKﬁAr.:g—}ma' *

Explain the given Floral formula :

& § EpiTCmJK:':EL[“'Q'.m.

ot . mm?ﬁuﬁ%mmmm ey 50 =1 § fefmn T | T
HEl I W 3 3fe Fayuifes o

Write the answer of Question Nos. 7 to 12 in maximum 50 words

each. Each correct answer carries 3 marks.

r_m%éﬁﬁ%-?amﬁfwﬁmmw%mﬁm 3
What is Placentation ? Explain axile and parietal placentation with
digrams.

K—1—T—8056A2



T

T2,

Tt T5a wwd €7 sgF-wfes 9w =1 w59y 9v #ifa |

(' 3.)
3T (Or)

Define Transpiration. Explain its procedure by an experiment.

. WHT [FE w1 (HEw a9fg 9u 9w S § w1 59 9, 9t 3099 el § guiesn

%1 Fynofs w1 Y@=y g§R g9 3

If 2 normal man marries a carrier colour blind woman express the offsprings

with Ray diagram showing inheritance of Colour blindness.

Lad

What is Joint ? Describe ball and socket joint with diagram.

G491 (Or)

qE-S[E 0] w AAEITR e wAEL TU whREE o fefe

Draw labelled diagram of Human Sperm and write function of Achrosome.

Lid

Describe Cyathium inflorescence with diagram.

TF=1 o9 91ef % T 9 9  aeesns T fatay, eE w | siefy am 2E
Z I 3
Write Common and Botanical name of any three plants, whose stem provides

medicines.

THEH=gE 59 & 7 39 9% = 5 oy TEfen

T

What is Amniocentesis 7 Write its two advantages.

K—1—T—8056A2 | 5 0 7



14.

(4]

fdor : WY wUIF 13 F 17 9% F y94F 0¥ 1 5 Afywan 75 vl | fafEn g

HEl oW W 4 #Hw FAgifa 2
Write the answer of Question Nos. 13 to 17 in maximum 75 words each.

Each correct answer carries 4 marks.

. sfey Ty syitey %1 =1 ® =0 3=n fafEn) 4

Write four structural differences between Bone and Cartilage.
#Ag=ET (Or)
TF AR wfgw § IS SieEs h HYE W AR dA=e Teran |
Write four points of differences between Blood and Lymph on the basis of
cells found in them.
VA Sediaaa & 91 S HHERE | 4

Explain any four causes of Chromosomal mutation.

. Hved ¥ AwElrE wEm F o ower F oudg w1 & o g 4

Why did Mendel choose Pea plants as hereditary experimental material ¥

T ufrgErw fw 0 g9, e, e uE wUR % s fEhen 4

Write the functions of artery, vein, capillary and valve in Bloed circulatory

system,

. fE-dwt wie = B 7 9E AIE F HEIEl 4 fg-¥F1 &19 ga=sd | 4

What is Dihybrid Cross ? Explain dihybrid cross with the help of checker
Board.

K—1—T—8056A2



La)

HLET (Or)

:qummﬁmﬁmwm|ﬁma&mmﬁmw?—’ﬁ

LU |

Ay

Explain Mendel's law of segregation with example, Why is it called law of
unit ¢haracters ?

E9T : S99 F9is 18 § 2 T F YHE T T I ATHFAY 120 yi=t # fofae | vos

78

19;

HEl 3 W 5 % Taglfg 2

Write the answer of Question Nos. 18 to 22 in maximum 120 words each,

Each correct answer carries 5 marks.
ﬂﬁ—mﬁiﬁm%?ﬁfﬂﬁm%w-ﬁmm%mhﬁﬁm 5
What are Phyllotaxy ? Desecribe various kinds of Phyllotaxy with diagram.

ST (Or)

T I = sfea fafen ) e 5t ¥ e e 0 & &feas gem
a7 7= =1 gfEa &1 fo=r wfem avl =i

Define secondary growth in Plants. Describe with diagram the cambium ring
formed during secondary growth in Dicot stem.

ﬂmwﬁ?aﬁwﬁﬁﬁm%mwﬁamﬁwwﬁsﬁnﬁmﬁﬁﬁ

7 :

How will you prove that Hydrotropism is more pewerful than Geotropism for
roots ?

L

Write five differences heétween Aerobic and Anaerohie respiration.
FHIGT (Or)
A4 T 3wt ¥ w1 e s faten

Write any five differences between Bone and Cartilage.

K—1—T-—8056A2 ' S WY 3 5



(-6

HET99 FI (WAl =1 TEf=s g JHE8 |

et
2o

Explain the process of Oogenesis with Ray diagrams.

12, TS w1 JOATEA RIS | T oA 1 T9A1 Bl IHREEC
Define Chramozome. Bxplain the structure of Lampbrush chromosome
diagram.
44T (Or)

T ¥ = fasgtow =1 Tooan 1artes 2 99FEY |

with

Explain the mechanism of Sex determination in Human with Ray diagram.

K—1—T—B8056A2

16,155



Total No. of Questions—22| [Total No. of Printed Pages—=6

T—8056B2
BIOLOGY
(Hindi & English Versions)
Time : 3 Hours
Maximum Marks : 75
o

(1) =7 w79 HAfad £
(2) FE FHF 7, 9, 13, 17, 18, 20 3% 22 § siqfer faskey faw M F

(3) T % 3 f=u u FHdurEr fafen
Instructions :

(11 All questions are compulsory.

(2) Internal options are given in Question Nos. 7, 9, 13, 17, 18. 20 and 22,

(3) Write the answers of questions according to the notes given.

o : 9= 9T 1 9 ¢ 9% F THEE UTT 51 5O HAUHAA 30 WSl § faAfEn | 39E
oET 3 W 2 #Hw Tuifem

Write the answer of Question Nos. 1 to 6 in maximum 30 words cach.
Each correct answer carries 2 marks.

1. T TE @6 '@ 9§ 97 @ fataug 2

Write two differences between Simple and Compound leaf.

K—1—T—S056B2 P, .0,




(3]

). wTETE EE H1 =9R fadeand fetEe

Bad

Write four features of Organic manure.

3. 19 9EH FTF g 8 UHl & geeies T faran)

frud

Write Botanical name of two fibre yielding plants.

4. H =Te7 WA SRI9 I 9eamE fAfEe

[k

Write the definition of Versatile anther.

5. 7999 F U 759 ¥ %1 39W 99 IS £ 7 3

How iz the surface of gills suitable for Respiration ?

6. Tl STHETN A FT FHIGC | 2

Explain Open Circulatory system.

de . OV FHIE 7 9 12 9% F T 939 51 3¢ Afusan 50 y=y 0 fefan) ves
HaT I 9T 3 afw fadifia &

Write the answer of Question Nos. 7 to 12 in maximum 50 words

each. Each correct answer carries 3 marks.

7. Ot =1 faefafEs vl 5 5=53Es
Iitf-smf_,fﬁ
(ii) SUfeyg =9 F FHE | 3

Explain the Meninges under the following heads :
(i) Meninges

(i1} Present fluid and its functions.

K—1—T—8056B2



(3 )
Hgar (Or)
e yE A TRfEw g A9 wRTEE % FwE fata
Write the function of middle piece and acrosome in human sperm.
8. Tamr==as fo9 weq €7 wefm wg fy=rg faeme=am &1 9f=s gasmn 3

Define Placentation ? Explain axile and parietal placentation with

digrams.

g. UEarsTH 7o T8 fE-dtews ush 1 eittE: @A ¥ & d o= Tmam 3
Write any three differences between anatomy of dicot and monocot leaves.

Hudr (Or)

FOAE 90 a1 Hi9d 38T §H] HEEE0 |

Explain Seismonastic movement with example and diagrams.

10. w=Tg HavT fEY Fea £ 7

Lra

What is Aguaculture ?

11. BEMEE fF9 F8d € 7 9 % FHMEas (39 & (90w @A =1 F 5919
AT B, A 99 IT9 H=Hl H ETHIGNGE] R S99 9 B¢ IEnEs g
HEARL | 3

Define Haemophilia ? Explain the haemophilic inheritance with ray diagrams,

if haemophilic man is married to a normal woman and gives birth.

12. 1919 F1z F1 Sq-d9HT 919 fAtEn | w=F wga (Fivw) 8 vm fFe  ww O
g s 22 3
Write the Zoological name of Silk worm. How silk is obtained from Cocoon 7

K—1- T 5056B2 B.T. Q.



(4]

29T : v FHIF 139 17 7F F T9F UV &1 3¢ Ay 75 ¥e2] § HiEn | g=s

13:

14.

15.

16.

7.

TR T W o4 3= fAwife
Write the answer of Question Nos, 13 to 17 in maximum 75 werds each.
Each correct answer carries 4 marks.

T2 #1 fufg & anuw © =] 91 osnl &1 gf=y goi5 siien 4

Describe three different types of Chromosomes according to the position of

Centromere.
YT (Or)
e TOE H TE 93 g wEEREn

Explain the structure of Polytene chromosome with diagrams.

= FANAT F =97 " fargn 4

Write four significance of Gene cloning.

S heeH THUg A FH &ed © 7 TEEng| 4

What do you mean by Klinefelter's syndrome ? Explain it.

fen #igia 0 £ 7 Tl v = 39 9= TG & & fofgn) 4

What is Sex hormone ? Write one funetion of each male and female

hormone.
:v954 Ug MvaET § 9N = feran | 4

Write four differences between Expiration and Inspiration.

K—1—T—8056B2



(a8

gt (Or)

TEAIFETT A A2 (8.A. Node) 7Y IRz aE=ZIHR 418 & =1 3 Toiay |
Write four differences between Sinoauriculoventricular node and
Aurrculoventricular node.
29T : I99 F91F 18 9 22 O & Udd® U9 71 501 Si0=a9 120 ¥&1 O fefas) v
F#E] 597 9T 5 T IECIHEG %I

Write the answer of Question Nos. 18 to 22 in maximum 120 words each.

Each correct answer carries 5 marks.

18, FUFEN B FYH 1 A9NE §7 T F YA =UeEl &7 T9 Afed gEsmEn

L

What do vou mean by Modification ? Explain underground modifieation of

stems with diagram.
HAGET (Or)
Uuw TE EEra Y0 §1 3w & 1 sEmew g wife

"Flower is a modified shoot.” Justify the statement with example.

12. HTZFHAA 1 THFT TGS R §HEE0 |

LA

Explain the process of Oogenesis with Ray diagram.
0. 399 T = Fgirw =t FIE %EI:‘E‘I‘:I GILl HHFAETI 5
Fxplain the mechanism of Sex determination in human with ray diagram.

Hadr (Or)

Fi4 TE 9 (Offspring) ¥ 919 3= fafEw
Write five differences between Clone and Offspring.

K—1—T—805882 PT O
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. FTEFE g E TR R R e feEe T e O Z0I9% WEEE US fgars= =0m
== 7F I fHma wi=s e 3

What is Secondary growth ? Explain the formation of secondary xylem and
secondary phleem in dicot stem with diagram.
22 #TF F99 a9 e s W Ui s fafeu 5
Write five differences between Sexual and Asexual reproduction.
HAGGT (Or)
TTEC TOETIN H A N OFHE § 7 9HE-299 F1 SR 3§ gU @ wemEn

What do you understand by Double circulation ? Explain it with the example

of Human heart:

K—1—-T—805682 16.155



Total No. of Questions—22) [Total No. of Printed Pages—=6

T—8056C2

BIOLOGY
(Hindi & English Versions)

Time : 3 Hours
Maximum Marks : 75
g :
(1) 397 w93 afFEE 2
(2) 999 FHIF 7, 9, 13, 17, 18, 20 30 22 H #ifr fwey four mu #)
(3) 5w % e feu o fdwngem fafEn
Instruections :

(11 All questions are compulsory.
(2)  Internal options are given in Questien Nos. 7, 9, 13, 17, 18, 20 and 22.

(30 Write the answers of questions according to the notes given.

29T : U935 F9iF 19 6 9% 7 Yg® U9 F1 39 AfUFAH 30 el § fwrEn) 99w
TET 3w W 2 sfm Tayifew £

Write the answer of Question Nos. 1 to 6 in maximum 30 words
each. Each correct answer carries 2 marks.

(9}

. TgareE= a9 T9uds=i] Y=Ed] F1 9uSEa|
Explain the vocabulary of Diphyodont and Heterodont.

K—1—T—5056C2 4y vl & 8



{ 2)

Ied

L FUOER H YEF B AW AR Wl % Sretas AW fefa | 2

Write Botanical name of four plants used as Green manure.

Y]

. W T4 HYW wel A g1 @ WiEn

Thal

Write two differences between Simple and Compound leaf.

4. T "9 T2 FEET YA H] GG Fiiw 2

Define Open and Closed Vascular bundles.

5. B I F HmR R A9 A9 BEEO w5 3Um ferfmm | 2

Write the name of Pathogen that causes Leprosy and two preventive measures.

6. S FI FH FaFk w1 AHIFEA (T3 FTEL )

Draw labelled diagram of Adipose tissue of Human.

v : T FUE 7 8 12 9% F u=E U 31 390 Afusay so v A fetEs | o=
el 39T 9T 3 oW fuifis &

Write the answer of Question Nos. 7 to 12 in maximum 50 words
each. Each correct answer carries 3 marks.
7. THIET F1 9 99 g gH=En 3
Explain the structure of Villi with diagram.
Hg4ET (Or)
o g1 g yiETm 83 w1 gEsEn |
Explain Open circulatory system with diagram.

K—1—T—8056C2



(3)

a0

. FEEE gig & o1 v gnwm e 3

Write three suitable reasons for Population growth.

sy

- AFTETE fET F Swl Hi=E w5 uiEE wEEnn)
Explain the process of Double Fertilisation in Angiospermic plants.
=G4t (Or)
Vo 7 w wEEE w9 R sEE we § A9 wA e

*Potato iz modification of Stem.” Write three reasons in favour of it

10. Taem==m 59 #=d T2 =1 21 =1 =1 "= auq fafan 3

What iz Placentation 7 Deseribe its any two kinds with labelled

diagrams.

-

11. Uesl % o4 FHOT R HEIET]

Lad

Explain three reasons of Allergy.

12. UETE, ITRAAd a9 WHIES] &1 Ganag Hra) 3

Define Allele, Mutation and Homozygous.

9T : U¥9 FHIS 139 17 7% & 94T U9 51 3 A9Fdy 75 Vel | Tetmn | T
HE I W 4w fauifig £

Write the answer of Question Nos. 13 to 17 in maximum 75 words each.

Each correct answer carries 4 marks.
13, 767 Fgers 7 o, 9= TS aws 597 €60 € 2 3@ oY TarEn) 4
Why are the Women normally carrier of Sex linked diseases ? Write with example.

K—1—T—3056C2 2 T.0.
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i
L

G fes ST § edtoE Ted = e faten )

(-4 )
Hg4ar (Or)

SrE F A g i geas W wirEn e g e

Write the role of erossing over in origin of new characters in Organisms.

S 5 AR F s 9@ Tawmerd s et TR % gW ¥ 7 SEEes AT
I | 4

What are the kinds of Heterotrophic animals on the basis of Feeding habits ?

Explain with examples.

AT T fafwmmie & FEm fEfEn 4

Write the causes of Genetie variations.

P

Write the peculiarities of Genetic material of Prokaryotic organism,

| Ty T uvEETe W EiEA wiEE F A ad & feran &

Write the name and the function of Harmones secreted by Posterior Lobe of

Pituitary gland.
319 Er (Or)

Explain the working system of Striped muscle.
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[ A )

frdor . uTs =EIF 18 T 22 9% F WOE U9 = IR Agwad 120 vedl ¥ fatEe | v
e TR 9T &% Hyia £

Write the answer of Question Nos. 18 to 22 in maximum 120 words each.

Tach correct answer carries 5 marks.

5. A= & TEn fagior =1 fE vaee g SRt

T

Explain the mechanism of Sex determination in human with Ray diagam.

Hg=n (Or)

F5T w2 % U wwy et vEE F gIERL |

Write five characteristics of Genetic code and explain each.

9. fodtas 37z 59 wen &7 fedramt &4 foras afs g vem aids 507 355
% =1 w9 A9 FHEET

(WH]

What is Secondarysgrowth ? Explain Secondary growth in Dicot stem till

first annual ring is formed with diagram.

20, W[ ws s § 9ie e Tefan 5
Write five differenees between Bone and Cartilage.
Hadr (Or)
=T A"l vad OTuEl W ours @ ferad |
Write five differences between Red and White museles.

|t
—

ATESTS w1 A 1Wgs g HEHEE | 5
Explain the process of Oogenesis with ray-diagram.

K—1—-T—8056C2 2 L 5



(6}

22. FEEET T & fafvm yend w7 5w g wEnw oww [ WHERY, 94 To4 =5

=i =

Explain with diagram and example of various kinds of Racemose infloresconcs.

when rachis is elongated.
HYdT (Or)
qHl F A g gWifea fafim el s st fam dw wyEen 5

Explain with example and diagram the movements in plants that occur

under the influence of temperarure.

K—1—T—8056C2 16.155



